2.1. For a given basin, calculate KGE
scores for all 36 models (calibration and
validation periods)

\ 4

2.2. Find the best model (highest KGE
during validation) for the basin.

\ 4

2.3. Calculate the sampling uncertainty

interval (5”1-95th percentile) for the best
model using gumboot.

\ 4

2.4. Find all performance-equivalent
models for this basin (i.e., all models with

a validation KGE score above the 5t

percentile value found in step 2.3).

Q1. For each model, count in how many
basins it has been identified as
performance-equivalent in step 2.4.

Q2. For each basin, count the number of
models identified as performance-equivalent
in step 2.4.

Q3. Find the minimum number of models
needed to obtain performance-equivalent
simulations in all basins.




